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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. ToUor % 39 % 1 919 FA1ST S TR H BH o IcATal hl FoT o d
a2 |
Name the marketing function which is concerned with informing the

customers about the firm’s products.

2. TfYeR wd gt s for o Sem-fesmsm €, 3 1ot “heme urgae fafiee’
FHEHT TG S o TOIC Tk 9T, FeH fesme R J@en 9 i 3 & |
3 fofa fren fF 3 fo9 4w geie =@ wm o TP R
Tesmefam e st worst udiedt o f7u shifenT shemsti o1 TS Rl | i<
=X o TTT 381 918 o W o1 JuW aa foRe W fora | 3em g @i
37 foremfelai st Aie@ i Ffafefoat S e § 2T ot | I8 quied ¥ SHd
T Toh 3TeRT HaETd FETC 1 X 34T 81 @ Toh of RIS Shl &FeeT ol
Ul IGANT L AT, o HIeehrdt B3 @ia o TR § R s @ 9|
“TheHe e fafiee’ o W & dg@™ | ol qon W et ficd wmgae
fataes’ & am @ 9 fifén qun Ry w1 sggE™ 9o ® o | ufeekr A
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TH @ Tk foRan 3R 97 wEaE @ T stem-stan fafrem fee fomm @

ST et Ueh Sieiend] AR Tiie fSr&en S <A1 o gy foham S |

T 39 EEHd 8l T |

“Tee Wrgde fafiee’ it Tumlt St sTaweharei &l TIfad i aTd Hew

=1 g | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not
sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them
without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’

3. focitm fofat o @ forelt woh fvfar g forfta weirar o afterafea =1 SR
ST T TfaRfian gwifed 2t & | ol 1 A SdTd gU SR 3o
I | 1

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.
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4. VoY W HEM I AHAT T 1 39 KU H TIH UGHAT I8 ok T A
3oehd HITSTT |

‘Management is the process of getting things done.” State the meaning

of the term ‘process’ used in this statement.

5. WIS - U T MER § o &1 T Uohe GliaT qei ar foh 39eh oiad
T feu T 379Tg WE w9 @ T 9 I Hehd o | 3T $Hh! {hEd A §
1 | Tk TeTRad STETEAT Wold §U EdHT < I8 Seci@ R o 3 a8 ffeera

i Toh ISR § Torem™ Yokl ohf 331 TR ST qen Sieg & guied ol

1Y ISR AT Yehe IqTsd o U ST |

S = 578 ITHIAT SRR 1 SN TRl 3HehT Soai@ hiTSTT |

Manuj bought a packet of chips from a local shopkeeper and found that
the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

6. 39 WIS GT<l 1 ATH FATST, S WA -1k o ITAT hl SHRIGRICTAT hl
FEEI TR |

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

7. ST 3T=XUT o Tk dcd o ®U H ‘Sarecel sl 319 odrsy |

Give the meaning of ‘accountability’ as an element of delegation.

8. ‘hraicHsh BREART § ‘filiersh shl s{[HehT T Ioci hifS |

State the role of ‘inspector’ in ‘functional foremanship.’
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9. ‘TIR TewurseS fafiee’ o fouue steger- SRy, 3T Yseueh - TH qu
e GE1EH Telaeh-SAlfd 3 ha Bied sk fofa formm |
FI % G wRER] Yo J AHd 99199 Y69 SAlfd ol o i
398 31Uy TR o 9% WiTed Bie @ Uedt @ielt 9al &1 WX | I8 giod
BT AN 3 e e for 3uehl srefiey AT tetent ufed sigd & a0 w@
forvaaia ® | afe wergea | 38 I R T S at a7 gt steavas &
Mt | T T Ta-ash 38 [T FEHd 8 T | HAN STeTeh! died 4 i
fereed’ O Trueh fora Smgie O weumssist forties o foru formum sreaeq
o 93 o1 T o | o st o fTe Uer Sogeh et ol sl | 9hedt BT |
WA % Tk U 1 FrEfed § Iuctsy AUTRIa ITefATast i ST &ieh R
ERIKIRIN
(31) 3Tk Tk Ul hl W o TofT GAR TretTgsist fAtHee g1 S et oh

Gl o AT TSy |

(&) ITE U2 T 37cff o Tk Hdil o Teh-Teh AT 1 Seoid off i | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,
the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to
leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters” who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.’ to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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10. #ft G5 980 WO F F AWET A | ok TS AW ARG F @I o |
SR 5d G o Fifeh sk (AT &9 AT T YA FL & AT | 3Tk
M o1 ISR oo i Fafia €9 9 9¢ 61 91| ok A1 deh Rl STTRRIE0
A 1 HYON L AT o1 | §9 180 S o foh 36 =9on & 01 S
TN T Hed TG | o I Th 6601 BH ok AT 3¢ & o 3T @G h
MR T o1 | IR 79 U ot i gefit B g o 3/ e A &
3N H 5 e T fafnisa o o fote sher, oy & 3§ gSfira oy oft
EIRERERI

RIS 3T T Yo 40% §¢ TAT AR G o6 T30 1 IR o X 7
FUS B AT | 3Y 2 FUS T I A G| I8 1 IS T T 480 i &
f3u o 1 e T T W fow | et gfasfa o fafma o (@) g
GioTe el § YRdrs U@ Haftd S & 916 39 I Had 1 gardt g |
Tl I 1T U 9 9T AT SR |

IRIT SgeE B Ul I Iga F g e g Frewfea fredt 3 i
TET-T Td 37T i hifaTT |

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was
earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to
buy shares of the bank. He called one of his rich friends Sudhir and
asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of ¥ 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On

regular inspection and by conducting enquiries of the brokers involved,
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Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two
functions that were performed by SEBI in the above case.

11. SUHHT &1 o U TR-TTehi Sl 10 TF9d foht ST a1t Tl 9
T T Iooid ShITSTT | 3

State any three functions performed by non-governmental organisations

for consumer protection.

12. #ft Y95 9 Torohiieh TeuTgsisl o €] § SRl Yo o foidpe s
1 SHTHE L T8 & | TS H g &1 =Y o1 3R A&7 W el & a1 @
g | 3T AU OF 9, oo snfi-anedt ot v shw ot 7, @ gEem
FN G % foIu e |
Jae = qr for 3w | wt TR ok Ui T o SATUsRR 38 TUaT o 9T 9 |
3Gk TUAT T =T H forvamd T8 W@d & | §9e Jiommea®y R @
FHAT AT TH-ga F T ! THHE &9 H T8 TH ITd o | 39h HRT
FHHAR] G-I o AT AL AT TTH T 2 o & o |
(a7) Wt foreel @1 T rened i yem Hifey e wwer T

TreTITESIST 370 A& ol ITH &1 o a1 & off |
(9) 3Wh (31) AW H Ug=H TC Tedsh 187 o YehR sl Teh SN S0 oAl
EpeEasid 3

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.
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13.

14.

Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

RIS o wed o fohegl T Tolgatt sl THETST |

Explain any three points of importance of planning.

‘STt fafiee’ s1e et o & | HE @ oft | Fe gy STl AW T
W AT 3T USRI I TG o ok To1e, Talera Tl <kl A1 Rt o | e
ht it o STIHR a1 IS SIETS S ATAT AT o, STich 3Heh! 219 TS /i
SRT AT A off | SOH 7 Shael i 90T T o fug -t m

Al TaEi hl 3Tehct HY ATAT St o ToTC FSTe §IAT 9T o |

3ok TR, 795 HISTcH 3291 <hl ITH o ol 36 TR & &
TR AT A ST A 1M o | R oh &I R AR hl 59k
IR H AT IAT | IF AW AT R AR, 39 fIwT H 3Tk A1 ==l bl A
ot it I ifa aea & | =g Fola o wen f afosr § Sar afea ash
TG Tk 1Y AT hidl IR AT o T 1 GGUANT ST o 91 UTSehi
I &t ST FTelt TRGRd == § T | ST FehRIcH T9TE ISl 3T 3 o6
ek TR | AT T F ATfed alioh § T AT TRE SR fe |

&I HREFRR SATERT TR TR T4 o 1 o qcd hl [IRINATT & 3gT
i |
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‘Alfa Ltd.” was dealing in renewable energy. To get the business, the
team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members
to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by

the CEO.

15. U& w01 ST YR F 1 fauue @ ooft, S gEehl uEEn 3T
TTEh! I FGH I S ATt fosa ST el o RO aga g 9 |
FEIH TSR H Tk ST HAA off IR STl A iid @ ot |
AT ATH o FHRUT I F TIha -39 Faredi W eI o1 978 L fea |
TG RIS ATEeh! o A1 HFOHT o Te9 @S Bl T qT ST hl T
H ot i B wUe 2 S | iU 3R % A1y ST Us g W 3=
Jee 3Heh o1 | Tafeid gt | foeeyor ot o8 wan = for fasraiowea gansti
i S H TS T TEehT R AT | Iq: T A ST hl A H I
IIRA B I T HH [T THH IR A o 00 G 99 3T
JTUTT, | $Heh TNUTTHEEEY THTS il 38 § HraHt i Tnfd ger 7 |
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(31) 39Uk afvfa feufa # fordurerat g0 o sht Bl st GIRA & ToTT T
TEINUT o AL 1 T FdTd g SHAT 3@ hTeIg |

(F) T (37) ® qg=H T AT i iRt Hf FHesy |

A company was marketing ‘water purifiers’ which were very popular

due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the
goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

16. bl ST BT &1 | =NSd oM 9T o1t <0 | shald! & IcdTied sl Mo, St
for dfte foremer =1 fog™ w1 weh fomneff R, 94 w2 o o11% sfean @ =
foram | fSTeeh 310 9% F2-Fe) ¥ I S99 1 ITAN i dTefl HRI T
STIHLT T T ITehT IR ST | 36 Tk Ve & &R o1 ok foram e
T4 e FrewTer™ g ASa fogme oo § yeikia form | 39 s1gaem & fog
34 YW JURR & GETHG foRam T |
STk fedfa o afia e Faferr o ST Sl Te=1-e Ud a9esy |

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
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17.

from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

el fafaee’ 4 3@ & T S &9 H, & FE %k 95d FwH IFTE
3uctsy o, wiar fmfor it ek %ot Tenfua s w1 ol fomm | 3@ & &
A 9 Tt fafaee’ & 39 YA o @ TRt | St | AT Rl i
T srmeRita s & foe sweot 3 =g oft faolar fomn for et ofeer & w5,
ITEATS, TSR geaTia el agd €t gloemd «f 3uersy s e |

[3 o o

e fafres’ 3 stcafiss oy AAfSTa e I o T3 | Uk 3= Wi
F T AU I Yok FEeH skl el fafiee’ g sfsia feeg s
T8 T 1Y oh ShIUTE o1 I ST ok ToTT et |

TEes A 9 foh ST & el #§ weATeHeh 3l sl ity ok ot fafia
foranatt o it Safeda T § | Y% i &l 98 F1d § o 6 foroeh
gl ITERA T STaTeE @ | hadl A Ta1 2 Toh 39 we H Tewor g
STEE o WIEAW | € 21§ | Salfeh Wial fAfiee’ Friuvl shi STavaehdigdi
Tef} fewmetl # yarfea g9 1 STgAfa YoM St 2, foo@ geanet 1 iy
TATE BT 2 37T I off i I e S e |

(1) TS oh 39 YohR hl TTATHT ST FFEIN0T bt Tl fammedi ® varfed s i

Wit fafiee’ =t oigafd YaH A © |

(|) 90T (3F) T UgEH T B3 o YR o Ueh 3T 19 1 3@ SIS |

(|) T < gedi #1 3g@ HIfve st Wit fafiee’ gurer & aeifya

TR 2 |
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‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the
backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other
facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.” the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)
above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.

18. U =R T3l %! TWSTST ST Yaw4 o TagT=al shl Yehfd TX SRIST STaAd © |

Explain any four points that highlight the nature of principles of

management.

19. STfieh STSR § 7 Y Frie st ol = farfert o1 3g@ shiise |

State any four methods of floatation of new issues in the primary

market.
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20. 3TV TSTG Al Uk TEUL FHOH] H HRd © | e st il 9 38 ge@n
oT | STel 36k Ttk h1 ST <Al T8 a1 Wl =1l foh 30 S 2 31 36 wigate s
et off sigd W 81 718 2 | 37 3 e H Wl SHLET T q1 SRl A
39! Th T hl Tt <1 | 39 Tk areft 9 3ueh Tfehrl “oft IR
gHeh! Uk foTiad F=1 &1 | ot AR | qd & Eed o 9eft sheentan
3R] o TTC Th-3M S ol T A §C T foiftga =1 a1 | 519 g
Teeh i 39 IS H qaT =el al 384 REH] IHER ok STET e qe
JATHITE o &1 3T BT o AT T |

(37) ST TF=se ¥ 3Igd Hd U UG T ST ToNT §
Traf-ea afhal o 3RTa i |

(3) o= TR sl el 3t faRivarsti =1 Seeia shifvT |

(|) Ik uifefa o awTst ot Tifvd fore S amel foredl 31 gedt ot 9eam
i | 5

Arun is working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society
in the above case.
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21. 39N 99 AY - @ etk § 1ot ferit off i | 38 e wma a T,
IR & L&A1 S aTelt Teh SheuH1 | b foRaT | 98 38 e § @t el oft
3R 38 I8 Foi T fof g 3ot Wohm <l 1o} Uk Sifosk @mer St
TShHUT SehTs CATFUT hf) | 38 32w Ta wiey fauiia foru oft 32 umw s
T FHRE-ASHE &7 |
3G Toh 3e¥d TuW 9y # fafifa aftt ® 10% v SAfia e on | 3w
Frofa fore e fo ot Wit S0 v, wfesrt, Tt 3caTfe 9 Wl i 3R
T A Sfaeh BEA T aTel FoRam & & Tl S | 38 98 ot fl
foran for @ ot G o WL § ITATal o TorqUH o ToTq |ft Trarearsh =ron
T UTCHH TSR SITQT | 3T IcTe Jal=eish o €9 § Higd ol Ry foram forem
3cqre fopmett st faswifaa s o fatfa adiet 1 oft faofe form | diea
Y A HF W I ST ST FHETAT ohl G&AT i YT i ATed foemoy
ol T o | 37 STt STkt o forg Wy A Hiew ol amrgEr fafie 3ami
% I Al ok TR H off gloa fom | Some a9 WS e gmg o,
TEAH qT T 7 98- W T 100 Ffafed o At shi =rwom off i T |

3HITh TF=se ¥ Ufthal sl 3gd i Y 30 affd fafvrs AsHIs o TR

! T8I HISIT AT 375 HHTST |
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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23.

66/1/3 15 [P.T.O.

manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, area wise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was
announced.

Quoting lines from the above para identify and explain the different

types of plans discussed.

o= o 4107 Ua 4S9 STt o Hed Greleel ohl THETSY|

Explain the relationship between controlling and planning functions of

management.

SR 3 T 94T 3t g | 2T U9 ohl T dida @dial | arad o af

TS g TY e oft | 3T IUAI ik 98 SR ' TS | ITRRT T

Affm & =il 3u e w9 ues anfent o A 3 38 g e

T |

(37) Ik feufq o 39 weaql Ueq] ol e fEehl fouumeRal g
AT I TE 2

(9) Ik (31) H Jg=T T qee] o il b1 §arg | quiq hifere |

Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

case.

(b) Explain briefly the functions of the aspect identified in (a) above.



24.

25.

‘T fafaee’ us dodersa fwioh vt 31 soeht o IS % 60 @ R |

fUsel oy gaeh! Jfd 37%1 3T X 0.50 off | fafasfieo & faw e =i % 40

ARG AR Gt sl SATawaehdn off | 36k fTT &eot 5 10% s fifia

ek ford e fopa | = ad o st | faf=isa dsit W T 8 @ v

TfSTd oRaT | 38 40% <l & E R T foRa |

(31) 3g@ ity for fafadieror @ stwrenfat A afd o191 o @ a1y gen
AT BT TS | ST} TUTSTT h1 TT8 T § e |

() @ & U ISl @ o 9 & 9 H O] FRI KOS o 10 & ger |
foredi 1 Rl o1 3g@ ot ifs |

‘Viyo Ltd.” is a company manufacturing textiles. It has a share capital of

X 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of X 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of ¥ 8 lakhs on

capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

o4l o et o Tohva| R fo=g3Ti ohl THEST |

Explain any four points of importance of management.
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